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2) The height of
ght of every student in the school is measured, an(d found t
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individual distances of 20 velociraptors covered in a day.

qQuantitah

5) A list of John Cena’s favorite foods
Qquolieative

6) The amount of wood a wood chuck could chuck i

7) The amount of chicken wings Mr. Jala cou!
open mind. Q}mt.td'h\le

list of top-performing pitchers in baseball.

vali
9) A list of Mr. Jala’s favorite student-created nicknames. Happ
Qualitdtv

hod would be most appropriat

Which Data Collection met

8) A
yl alaween!

¢? Explain.

Simulation

Observational Study Experiment
Sample Survey

10) The migratory patterns of velociraptors.
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Which sampling method is described? Explain.

Ra ae 4 . qobt i
ndom Simple Random Stratified Cluster Systematic Convenience & TR

15) A 1000-acre farm is divi i
is divided into 50-acre subplots, and 10 of those subplots are surveyed for plant growth.

1000 =50: 20 P\o‘b
custer (10 of 20 PO S)
16) Your friend is organizi i i
ganizing a dinner outing, but only asks the two peo le with her at her house instead of the

larger group.
Convenience.

1 ) A giant ChiCken masc (0)¢ - Vv e Str eck V\‘hat the ttnrlk aba
; ot f ¢ 1
2 det fOOd Conlpdny aSkS eve third erson on th y 1

chicken.
systenaiic

18) A i i
) A hat has 100 slips of paper with students’ names on them. I pull out 10 names

random

19) Refer to #18. Now there ar S /s’ g
e 50 boys’ names, and 50 girls’ names. 1 randomly pick 20 names.

simge random (e e el
20) Still in regard to #18, I split the names i pi
) : ; :
e nane into a9 ‘1\16 for glrléand a pile for boys. 1select 10 boys’ names and
21) Yep. Still 18. I separate the names by erade level, picking names from each grade
_E__———lﬂ-——‘—‘ o e {

Siratifed  8gan

23) You guessed it. Number 18. 1 separate the names b rade level again, picking freshmen and sophomores

State whether or not each situation contains bias, and explain your answer.
24) Asking every third person on the street what they thought of the movie “Frozen.”
of W)&‘hm

| N0 DidS, fandom representatve
25) Asking people who have “Frozen” merchandise on them if they liked “Frozen.”

\DidS, N quD\Q- Who own Feoren PP

hat Democrats think of various Republican candidates, you use a list of registered
democratic VOLers, randomly selecting 1000 to call.

: vors Qo nek reQresent :
a5, democrdtic VO S Pemm f

about Republican candidates, you ask every 4™ person on the

e

26) In an effort tO know W

27) In an effort to know what Republicans think

street. 1 M 0. (f\
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' # Use the z-score formula for the following questions. Show all work.

28) The average test grade was an 79% with a standard deviation of .7%. (a)What is the z-score of a student
who scored 90%? (b) A student who scored 79.7%? (¢) What is the test score of a student whose z-score is
'1225? (d) Would a student who scores an 80.6% be considered an outlier? Why or why not? (e) Sketch part (d)
using the provided x-value, the corresponding z-score, the average, and the standard deviation.
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Calculate the standard deviation manually for both data sets. Verify your results on a graphing \W}?J\d
q)

calculator.
08,411

30) 48.0, 53.2, 52.3, 46.6, 49.9

M = Y8153+ 53:3146:61 129
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. Use what you know about data percentages and the normal distribution to answer the following \
e § questions.
i\
e V' 32) A teacher gives a test and finds the grades to be normally distributed with a mean of 83% and a standard 1S
deviation of 5%.
e ¥
a) What percentage of test-takers scored above 83%
The
iny b) What percentage of test-takers scored in between a 68% and a 98% Boey - d
QY 7Ly — 2 )
De c) What percentageé of test-takers scored between 73% an 2 . . 3
= . [0
%) Va(as5) K475 7> 5
4 d) What percentage Of‘test—gakers did not score higher than a 98%:1-
b 100 = Y2(0.37) = B Wb 100-.15{9984
€) What score range corresponds to 95% cores? -2g o o MO 2>
20 o 38, © (731093 b3’ 73 18 g5 % 93> 9%
Sample Proportions & Margin of Error. g G W 3 \
33) One thousand people are asked their favorite season and 280 respondents answer “Fall.” \
N 1000 SP: 289000 “Bheo =28 \
a) Determine the margin of error. \
MOE"_‘.___'J_. d.ob\b'}’_ i
\YY) Jiooo
b) What is the interval foggle true population proportion, if the population consists of 10,683 people?
? -E % auR1y. oF 10685 1o 2.1b7. of 10683
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POE Sy 28/. 2).1o7. 243U« 10633 Db ¥ 1068
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Conditional Probability and Independence

34) Freshman and seniors are asked about their preferred way to spend downtime. Given a choice between

reading and videogames, the responses were as follows. Use the table below to answer the questions.

e R B T
s i pavblilin
Videogames 80 R B

B s

Let V be the event that a respondent likes video

pisy _ Phn 33 6 568

games, and S be the event that a respondent is a senior.

-

Find P(S given V). — )
; oFndFSgven V) = S50 = Ty )69

‘ b) Check to see if S and V are independent. Thoroughly support your work. i ,
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